BARRISTERS & SOLICITORS

160 John Street, Suite 300, Toronto, Ontario M5V 2E5 Tel: (416) 598-0288 Fax: (416) 598-9520

February 15, 2011

BY COURIER (2 COPIES) AND EMAIL

Ms. Kirsten Walli Board Secretary Ontario Energy Board P.O. Box 2319 2300 Yonge Street, Suite 2700 Toronto, Ontario M4P 1E4 Fax: (416) 440-7656 Email: boardsec@oeb.gov.on.ca

Dear Ms. Walli:

Re: Pollution Probe – Cost Claim EB-2010-0060 – Consultation on Distribution Revenue Decoupling

Pursuant to the Board's *Notice of Hearing for Cost Awards* dated February 7, 2011, please find enclosed Pollution Probe's cost claim for this matter.

Yours truly,

Basil Alexander

BA/ba

Encl.

cc: LDCs and Natural Gas Utilities by email

AFFIDAVIT IN SUPPORT OF COST CLAIM

EB-2010-0060 - Consultation on Distribution Revenue D Pollution Probe							
Board File Number					Party	Name	
Items Claimed Net of HST							
Legal/Consultant Fees	+	Di	sbursements	=		Net Sub-Total	
\$ 1,038.65		\$	29.05		\$	1,067.70	
Goods and Services Tax							
Full Registrant			X Qualifyin	a Non-F	Profit (HST	「at 6.5%)	
Unregistered (HST at 13%)			Tax Exer	-	•	· · · ·	
Other HST at		%					
Total Cost Claim							
Net Sub-Total	+	Total	HST Claimed *		т	otal Cost Claim	
\$ 1,067.70		\$	69.40		\$	1,137.10	
~						***************************************	
I, (name) <u>Basi</u> <u>Alexande</u> of the City of Toronto in the Province of Ontario MAKE OATH AND SAY (or AFFIRM):							
1. I am a representative of the above matters attested to herein.	e noted	l interveno	r (the "intervenor") and	d as suc	ch have ki	nowledge of the	
2. I have examined the above Cost (Claim a	and all of th	ne documentation in s	upport c	of it.		
 The above Cost Claim represents purpose of the intervention in the On 							
SWORN (or AFFIRMED) BEF the City of Toronto in the Prov			o on				
(date) Februar 15,	20	V					
My Ann M. Redd							
COMMISSIONER for taking	\ffida	vits, etc	. 5	ignatu	re of D	eponent	
COMMISSIONER for taking Affidavits, etc. Signature of Deponent * - includes only 1/2 of HST from all Forms 1 and 2 MUNAY Klippenstein							

SUMMARY OF DISBURSEMENTS

٦

Ilution Probe					
Party or Group that made the disbursement					
Net Cost	HST *				
6.50	0.85				
0.00	0.00				
0.00	0.00				
22.55	2.93				
0.00	0.00				
0.00	0.00				
0.00	0.00				
0.00	0.00				
0.00	0.00				
0.00	0.00				
0.00	0.00				
0.00	0.00				
0.00	0.00				
0.00	0.00				
0.00	0.00	Grand Total			
29.05	3.78	32.83			
	Net Cost 6.50 0.00 0.00 22.55 0.00	Net Cost HST * 6.50 0.85 0.00 0.00 0.00 0.00 22.55 2.93 0.00 0.00 22.55 2.93 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00			

* - only 1/2 of HST is claimed on Form 3

SUMMARY STATEMENT OF HOURS - CONSULTANTS AND LEGAL COUNSEL

A separate form is required for each consultant or legal counsel

EB-2010-0060 - Consultation on Distribution Revenue Decoupling Board File Number	tion Revenue [Decoupling	α.	Pollution Probe	
Basil Alexander		2005		Klinnonetoine	
Legal Counsel Name	1	Year of Call		Law Firm	
Consultant Name	- Years (curri	Years of Relevant Experience (curriculum vitae must be attached)	·	Consultant's Firm	E
	Hours	Hourly Rate	Sub-total	HST *	Total
Preparation	09.0	170.00	102.00	13.26	115.26
Attendance - Technical Conference	00.0	170.00	0.00	0.00	0.00
Attendance - Settlement Conference	00.0	170.00	0.00	0.00	00.0
Attendance - Oral Hearing	00.0	170.00	0.00	0.00	00.0
Argument	1.30	170.00	221.00	28.73	249.73
Case Management	0.00	170.00	00.0	0.00	0.00
TOTALS	1.90	170.00	323.00	41.99	364.99
Note: All claims must be in Canadian dollars. If applicable, state exchange rate	e, state exchange ra		, and country of initial currency	currency	

* - only 1/2 of HST is claimed on Form 3

SUMMARY STATEMENT OF HOURS - CONSULTANTS AND LEGAL COUNSEL

A separate form is required for each consultant or legal counsel

EB-2010-0060 - Consultation on Distributi	ition Revenue Decoupling)ecoupling	Δ.	Pollution Probe	
Board File Number				Party Name	
Legal Counsel Name	·	Year of Call	·	Law Firm	
Jack Gibbons		Over 20		Public Interest Economice	Fronomire
Consultant Name	- Years (curric	Years of Relevant Experience (curriculum vitae must be attached)		Consultant's Firm	E
	Hours	Hourly Rate	Sub-total	HST *	Total
Preparation	0.92	195.00	179.40	23.32	202.72
Attendance - Technical Conference	2.75	195.00	536.25	69.71	605.96
Attendance - Settlement Conference	00.0	195.00	0.00	0.00	00.0
Attendance - Oral Hearing	00.0	195.00	00.0	0.00	00.0
Argument	00.0	195.00	00.00	0.00	00.0
Case Management	00.00	195.00	0.00	0.00	00.0
TOTALS	3.67	195.00	715.65	93.03	808.68
Note: All claims must be in Canadian dollars. If applicable, state exchange rate	, state exchange ra	te	, and country of initial currency	currency	

* - only 1/2 of HST is claimed on Form 3

KLIPPENSTEINS

Barristers & Solicitors

160 John Street, Suite 300 Toronto, Ontario M5V 2E5

Fax: (416) 598-9520

Pollution Probe	Februa	ry 15, 2011
625 Church Street, Suite 402		
Toronto, ON M4Y 2G1	File #:	1782
	Invoice #:	2464

RE: Consultation on Distribution Revenue Decoupling

Telephone: (416) 598-0288

	DATE	DESCRIPTION	Н	OURS	LAWYER
2	Mar-31-10	Reviewing correspondence from JG; preparing response; reviewing Board letter and consultation letter; preparing intervention; preparing correspondence to Board re: intervention		0.60	BA
4	Apr-21-10	Revenue Decoupling - Reviewing JG correspondence re: submissions		0.05	BA
A	Apr-22-10	Revenue Decoupling - Reviewing further correspondence from JG re: revised submissions		0.05	BA
A	Apr-23-10	Reviewing Board correspondence re: extension of deadline for submissions		0.05	BA
A	Apr-30-10	Confer MK; reviewing JG correspondence re: draft submissions; preparing response		0.10	BA
A	May-11-10	Reviewing JG draft submissions; revising/analyzing submissions; telephone calls to JG re: draft submisisons; preparing correspondence to JG re: revised submissions; reviewing JG response; finalizing submissions; preparing cover correspondence for Board and arranging for filing of submissions		1.05	BA
		Totals	1.90	\$323.00	
		HST on Fees		\$41.99	
	FEE SUM	MARY			

Lawyer	Hours	Amount
Basil Alexander	1.90	\$323.00

DISBURSEMENTS

AND DOT OF A

Invoice #: 2464

Courier expenses	22.55	conjers to
Photocopies	6.50	Board 26 copies×
Totals	\$29.05	0.25/pg
HST on Disbursements	\$3.78	()
TOTAL FOR THIS INVOICE		\$397.82
Previous Balance		\$0.00
Previous Payments		\$0.00
Payment From Trust Towards This Invoice		\$0.00
TOTAL DUE		\$397.82
Any disbursements not posted to your account on the date of this statement will be bil	led at a later date	

THIS IS MY ACCOUNT HEREIN:

MURRAY KLIPPENSTEIN E. & O. E.

 Total Tax:
 \$45.77

 HST #:
 87215 1923 RT0001

* items are HST exempt

Accounts are due when rendered. Pursuant to the Solicitor's Act, interest at the rate of 5.00% per annum may be charged on amounts unpaid thirty days after the date of this account

PUBLIC INTEREST ECONOMICS

589 Carlaw Avenue

Toronto M4K 3K4

INVOICE: EB-2010-0060

To: Klippensteins; Attention: Basil Alexander

From: Public Interest Economics

Re: Fee for professional services of Jack Gibbons with respect to OEB Docket No. EB-2010-0060 (Revenue De-Coupling) for the period April 5 - 19, 2010

Date: February 15, 2011

P	1.	Reviewing PEG study	
200		0.92 hours x \$195/hour	\$179.40
ALC	2.	Attending Technical Conference	
and a second		2.75 hours x \$195/hour	\$536.25
ł	HST Re	egistration No. 871319323RT0001	<u>\$93.03</u>
r	ΓΟΤΑL		\$808.68

ch filons Jack Gibbons

Curriculum Vitae

Jack Gibbons

Experience

Principal, Public Interest Economics 2000 - Present

Director, Energy Programme, Pollution Probe 2000 – Present

Chair, Ontario Clean Air Alliance 1997 - Present

Commissioner, Toronto Hydro 1995 - 1997

Senior Economic Advisor, Canadian Institute for Environmental Law and Policy 1989 - 2000

Project Manager, Ontario Energy Board 1985 - 1989

Economist, Energy Probe 1979 - 1982

Education

Graduate Studies, University of British Columbia 1982 - 1984

Master of Arts, Queen's University 1979

Bachelor of Arts (Honours), University of Toronto 1977

Testimony

Mr. Gibbons has testified before the Ontario Energy Board on approximately ten occasions.

Member

Advisory Panel on Improvements to Ontario's Environmental Assessment Process (Cleaner Energy Table), Ontario Ministry of the Environment